8 7 0 v 4 3 2 1
3/4" SOLENOID VALVE AND UNION -
(TYPICAL EACH WINDOW) — W.P. J. BOX, PLUG AND SOCKET
(TYPICAL). ATTACH TO CAB
ATTACH 1" CW AND 3/4" CONTROL iR .
7 M S o et M NOIES! H
W/ ) "
I. ALL EXPOSED EXTERIOR PIPING AND PIPE SUPPORTS
SHALL BE CLEANED, PRIMED, AND PAINTED WITH
EXTERIOR ENAMEL PAINT IN COLOR TO MATCH CAB
FASCIA.
WEATHER-TITE 1/2" FLEXIBLE METAL TOP OF ROOF PARAPET 2. SOLENOID VALVE SHALL BE A 3/4" NORMALLY OPEN
AND SEAL AROUND CONDUIT CONNECTOR VALVE, "ASCO" NO. 8210G35-6 FULL PORTED, 24 VOLT, |—
PENETRATIONS — . y 0 DIFFERENTIAL OPERATING PRESSURE, BUNA-N SEAT,
(BOTH SIDES) 1" 1*X3/4" TEE 2 ! OR APPROVED EQUAL. VALVE BODY SHALL BE BRASS
o WITH WATERPROOFED MOLDED SOLENOID COIL AND
‘ - SEE NOTE 6 NEMA 4 WATERTIGHT COVER.
3/4" SOLENOID VALVE - , 3. WEATHERPROOF JUNCTION BOX SHALL BE "APPLETON"
SEE NOTES 2 AND 4 ATTACH COPPER PIPE STRAPS TO CAB S 3/4" SPRAY NOZZLE MODEL FSCT-1-75-A CAST ALUMINUM BOX WITH 3/4" G
10"X10" TUBE SECTION WITH 7 3/16" DIA A PIPE HEADER THREADED CONNECTIONS AND WATERTIGHT CAST ALUMINUM
SST SELF-TAPPING SCREWS 3/4" CONTROL CONDUIT - v‘v?&%'&’?% EACH GASKETED COVER, OR APPROVED EQUAL.
4, LIQUID TIGHT FLEXIBLE METAL CONDUIT SHALL BE
| | “ULTRATITE" - TYPE EF, OR APPROVED EQUAL.
LIQUID-TIGHT 1/2" FLEXIBLE METAL CONDUIT SR N 5. THE_SPRAY NOZZLE PIPE HEADER SHALL REST FIRMLY .
IN THE SUPPORT BRACKET WITHOUT INDUCING ROTATIONAL
i%\ CSHP%’(C))REA%RA?%ET'A yp) DETAIL STRESS IN THE DISTRIBUTION SYSTEM.
| \P10/ 6. PROVIDE A SPRAY NOZZLE HEADER, SUPPORT BRACKETS,
\ 3/16" DIA SST SELF-TAPPING EYEBOLT PIPING, aggwo(;? X/:!BVE, CONTROL J-BOX, ETC., FOR
~ EACH WI )
£ SST SAFETY CHAIN (TOTAL LENGTH 72" CAB_ WINDOWS CAB WINDOWS 7. WATER SOFTENER, JWS INCORPORATED, OR APPROVED .
PROVIDE SST SNAP HOOK AND ATTACH TO EQUAL, CAPACITY OF 8.5 GPM CONTINUOUS OR 15 GPM
EYEBOLT \ : L ‘ PEAK AT PRESSURE DROPS OF 8 PSI AND 17 PS|
TO SPRAY e R N - RESPECTIVELY.
NOZZLES —= WATERPROOF J-BOX SEE NOTE 3 | , IR - - Lo
ATTACH J-BOX TO [/4" THICK ALUMINUM . | B L ]
g}\ﬁ&%ﬁil h'j\ND PARAPET WITH 3é|6" DIA SSTCS(I)EA’_BGI'[,[APSl?TIé\I/S : ) , -
: SCREWS. PROVIDE ALUMINUM p
BETWEEN J-BOXES WHERE SHOWN ON PLAN FLEVATION OF ONE SIDE OF ATCT CAB /B\ REF
3/4"MPT X 1/2" FPT ADAPTOR (TYPICAL) 1747 = 107 \P09 /- POS
) "APPLETON" ST-50 LIQUID TIGHT FLEXIBLE - £
) METAL CONDUIT CONNECTOR OR APPROVED I" REDUCED PRESSURE
GFRC PANEL FQUAL (TYPICAL) BACKFLOW PREVENTER " CITY WATER
3/4" CONTROL CONDUIT BETWEEN J-BOXES /2710 SAC-13 < INLET
I" SOFT WATER
2 OUTLET
3/8" DIA IPS SCHED 40 ) o
St SPACER \ - CAB 4"X8" TUBE SECTION , < N BALL VALVE "
AUTOMATIC (TYPICAL)
ATTACH 2"XI" TUBE SECTION TO CONTROL \
3x3 TUBE SECTION WITH 10" R UNIONS
LONG X 1/4" DIA SST ROD ‘ D
WITH LOCK WASHER AND \ q TS 3X3X1/4"X2'-0" LG
NUT AN 3/16" L
N 3/8"DIA IPS SCHED 40 PIPE SPACER ' —
3"%5" STRUCTURAL —
5" LONG |/4" DIA SST BOLT, WASHER, BACKWM -
LOCKWASHER AND NUT DRAIN J
PIPE SUPPORT BRACKET CAB 2°X6" WOOD BLOCK BRINE TANK
SEE /" 4°\ /—
SOFTENER————__ )
o1y TANKS T C
——
EXTEND
TO FD \
16 GAUGE CAB SHADE POCKET |
ELEVATION .
LAY-IN CEILING »
3/4" SPRAY NOZZLE PIPE
374 seray NomaLE, WATER SOFTENER DETAIL /T &
NTS b0 509
ALUMINUN \ S, [T TTT] DEPARTMENT OF TRANSPORTATION B
- FEDERAL AVIATION ADMINISTRATION
SPRAY NOZZLE \\\\ SOUTHWEST REGION FORT WORTH, TEXAS
SEE /72 \ LOW ACTIVITY LEVEL
W \ 2% 3" TUBE SECTION REV. DATE DESCRIPTION DFTG. | CHECKED AIRPORT TRAFFIC CONTROL TOWER
PLUMBING —
50 DEFOGGER DETAILS
WATER STREAM ¥ 2 o & g ) ' ATCT +
s ™ s —— S — ) S
WINDOW | /40 = =0 - SUABBE_EJON (ADDISON AiRP?}RT) TEXAS °§
~ i =
SECTION .1 ’m%m chelel A K Jills ot |8
m REF ‘ PAHSDNS SYSTEMS ENG(MEER, AQfi-630 ( /MANAGER INFRASTRUCTURE PLATFORM, ANI-630 L
3 = |- W P05 3"=1'-0 DESIGNED! M. NAJERA ISSUED BY | oATEs 06-22-01 >
REVIEWED: D. PFUNDT AIRWAY FACILITIES DRAWING NUMBERs <
DALLAS, TX ?:;G,L,::T"J'MMER DIVISION ADS-ATCT- P09 é
8 ! | 6 4 | 3 I 2 | Rer. owe.: N




